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TILAK MAHARASHTRA VIDYAPEETH, PUNE

M. A. (PARANGAT) ECONOMICS
EXAMINATION: JUNE - 2022

FOURTH SEMESTER
Subject: Economics of Labour - II (ECBCS 17-413)
Date: 08/06/2022 Total marks: 60 Time: 10.00 am to 12.30 pm
Instructions: 1) All questions are compulsory. 2) Figures to the right indicate full marks.
Q.1. Choose the correct answer from the given options. 05)
1. ----- includes social assistance and social insurance.
a) Social Awareness b) Social Role
¢) Social Work d) Social Security
2. In the year ----------- a law was passed to compensate the workers
a)1923 b) 1925
c) 1960 d) None of the above
3. Industrial dispute results in --------- productivity of labour.
a) Low b) More
¢) Constant d) Elastic
4. Who measures the rate of unemployment in India?
a) NSSO b) ILO
¢) A and B Both d) None of the above
5. National Rural Employment Guarantee Act is implemented in ---------
a) 2006 b) 2010
c) 1990 d) 1995
Q. 2. Answer any three of the following questions in 100 words. 15)

1) What are the causes of unemployment?

2) What are the social security provisions in India?

3) Elaborate on the limitations of trade unions in India.
4) What is collective bargaining? Explain.

5) Problems of women workers. - Discuss

Q. 3. Answer any one of the following question in 250 words. 10)
1) What is unemployment? Discuss its types.

2) Explain need of labour welfare in India.

Q.4. Answer any two of the following question in 500 words. 30)

1) Discuss the various causes of unemployment in India. Expalin government policies
for removing unemployment.
2) Define labour welfare. Elucidate evolution and scope of labour welfare.

3) Explain the problems of labours in the unorganized sector in detail. State few
measures by the government to reduce it
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